LI /g and 7 are differentiable functions. and h(x) # 0 for any 2 in its domain, then

( fg) ,)

=] 1s equal to

h 4 A
Sj‘ %&‘}ﬂ,w»‘i ]

S flgh+ fg'ho— [gl!
a,}

iw»// }'LZ ¥ L - f
J'g'h — Jgl! co(x 3T

D)

- Sgh — fgl!
¢ h? .
Jogl' + [¢'h — ['gh
h

e S ot (K) A 0

e)

sin?(x) tan'(a

2.1y = @ 1) z) , then ¢/ = %)ﬁ’ gré‘f:%éi&ié’g

;) sin?(x) tan*(x) o dsec?(x) 4 i%f 2 o Lo e
L (a2 1)2 tan(x) a? 41

4 sec?(x) 4 ) el
_ {5 L BEe Ly
tan(z) 22+ 1 4 jM

sin?(x) tan(x) (2 cot(z) + 4sec(z) :4:1: )
(22 +1)? tan(z) a2+ 1

sin®(z) tan’ () 4 sec?(x) 2 ~ & .~
(224 1)? tan(x) . 1) '

sin?(z) cot*(x) 4 sec?(x) 4
(22 4+ 1)? tan(z) 2%+ 1)

b) 2 cot(x) +

)

d)

(2 cot{x) +

e)

<2 tan(z) +
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5.

6.

If g(r) + x sin(g(x)) = 27 and g(0) = 0. then ¢'(0) =

— sin(f)

0 %f'fg;} 4 55.{755 e O

ese(d) + 0

0 — sin(0)

d1

If iy cos(2) + sin’(y) = 7. then 4 _
Al () ;

ar

S

I,

% /

2y sin(2x) .
cos(2x) + sin(2y)

2y cos(y)

cos(2x) + 2sin(y) cos(xr)

22 sin(x)
cos(2y)

2y sin(y)
cos(2y) + sin(x)

sin(2y) + cos(2x)

y sin(x) LT
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9. Let the position of a particle be given by the equation
s(t) = 1% — 917 + 24¢, where s is weasured in meters and £

in seconds. The total distance (in meters) traveled i the

first 3 scconds is

10. A ball is thrown up vertically with an initial velocity of
20m/s. If its height after £ seconds is h(t) = 20t — 212, then
the maximum height reached by the ball

ot o) o e &g N 29
(in meters) is - ¥ SITRLV I U -
%{é\f‘g o
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A particle moves with velocity hinction

Then the particle is slowing down when ;
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12. A evlindrical tank with radius 2meters is being filled with
water at a rate of 8 m? /min. The rate of the increase of the
height (inm/main) is

(Hint: Recall that the volume of a cylinder with radius r
and height b is V = 702 h)
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13, The hfzxg‘:”h of a rectangle is increasing at a rate of 4em/s
and its width is increasing at a rate of 2em/s. When th{*
length is 15 em, and the width is 10 em, the rate (inem?/s)
at which the area of the rectangle increases is

LTSy A

M!%‘?TER

e

14. The w-coordinate of the pomt on y = l+e¢"—3r where the

tangent line is parallel to{wz +y=95 ;15

ngw

(b) § g % fi,:f {y ;}iﬁi& »g ;
(¢) Inb — e

(d) In3

(e) In2
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If the function
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15 differentiable on (0, 00), where a and b are real constants.

then a +b =
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17. The equation of normal line to the curve f(a) = ——— at

(0.1) is o, L (e
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sin(2r —2)

10, i e

y [
" i

20.  The equation of the tangent line to y = cos(r) — sin(r) at
(0,1) is
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